An equation of the plane through the pomt(—z 2 1)
and parallel to the plane 5x +z =4 +2 y , IS ', e

C) 5x=-2)+2v+2)+(z+ 1) = 0 =

ND) 5(x+2)-2(y-2)+(z-1) =0

(E) S(X . 2) = 2(}? — 2) — (Z' — 1) =0

? ; o e S SR
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o] L =7 Ty

Find the projection of BC onto AC pra; BG i
where A(1,2), B(4,6), C(5,5) ‘
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If the volume of the parallelepiped, determined by the
vectorsd,band ¢ is 8 ,then |@- (b x —

(A) 18
(B) 4
(C) 32
(D) —32

(E) 2
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The set of all points that lie between the yz —plane and the vertical
plane x = 4 and outside (or on) the sphere with center (0, —1,0) and
radius 5 can be represented by the inequalities

A)0<x<4and x°+y?+2z%+ 2y > 24. ‘
B) 0<x<4 and x*+y?+2%+2y>25. |
(C) 0 <ix </4land o ¥ y2 4 2% -2y < 24, g
D) yz<x <4 and x“+ y°+2°+ 2y <25 |
":\\::‘:"(E) O0<x<4 and x“+y°+2°+2y=>24
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(A) cone ﬂ | |

(B) hyperboloid of oné sheet

(C) hyperboloid of two sheets

QD) > ellipsoid

(E) paraboloid
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The expuation ol Che sphere wliose ine of [ts dattaetes lus
eniddpetnts (1, =200 and (3,4, =6].

A (x— 2P+ (v—1) + (2 3) =76
iy =27+ (v—1) +(r4 3)° =19
(U fr—4)F + [ =2) 4 {2467 =19
=2V 4 fv— 1) e 4 4y =30

Fifr=A1 +{y=21 4 {7+ 6) = SN
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The region in R*defined by the following inequalities

4<x*+y°<16,z>1is

(A) All points that lie between (or on) the two circular cylinders

x2 +y% = 4 and x* + y? = 16 and above (or on) the plane z = 1.
(B) All points that lie between (or on) the two circles x% + y% = 4 and
x? + y% =16 and above (oron) the line z = 1.

(C) All points that lie between the two circular cylinders

x% +y% =4 and x% + y? = 16 and above the plane z = 1.

(D) All points that lie between the two circular cylinders x* + y* = 4
and x* + y* = 16 and below the plane z = 1.

(E) All points that lie between the two circles x? + y? = 4 and

x2% 4 y% = 16 and above the line z = 1,
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Let P, Q and R be three points such that PQ =< 2,3, -2 >,
PR =<3,2,1>. If @ is a vector in the same direction of the

vector QR and has magnitude 3, then 7 =

A) %{3*_3’9:}

B) ~5 <-3,-3,9>
C) 77 <3,-3,-9>
D) 7'1—1{—3,3,—9::

E) 7%—<’.3,—3,92:>
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If p is the point of intersection between the rz—plane and
2—t, 2z =3—t. Then the equa-

—

the line r = 2 -2, y =
tion of the line passes through p and parallel to the line

r=1—23, y=48, 2=1+38 is:

A)z=-2-2, y=4+4t, z==
B)z=7-2t, y=4t, 2=4 + 3t
C) z=-2t, 1;—3+4 z=1+
D) rz=-4-2t, —1+4t, 2= 3t
E):r—-—Q-—Qty i, 2z =
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[f v and W are two nonzero vectors in space such that
(V + 2W) and (2W —7) are orthogonal, then
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The equation of the sphere whose one of its diameter has

endpoints (1,—2,0) and (3,4, —6).

(A)(x—2)*+ (y—1?*+ (z+ 3)* =76.
B)(x—2)°+(y—-1*+(z+3)*=19.
(C)(x—4)*+ (y—2)*+ (z+ 6)* = 19.
D) (x—2)>+(y—-1)*+(z+3)*=38.

(E)Y(x—4)>+(y—2)*+(z+6)* =38.

CamsS
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O

O

The equation of the plane that contains the two lines
Li:x=1+2,y=1—-t, 2=2+t, and
Lo:x=1-2s, y=14+3s, 2=2+5s is:

A)—dr —4y+4z=0
B) -2z -4y +82=10
C)2r+42=10

D) —4r+82=12

E) 21—-—11}—8:::—]8

A

B
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The quadric surface x% + 1 = 2x + y* + z% is

(A) elliptic cone with axis the x — axis and vertex

(1,0,0).

(B) hyperboloid of one sheet with axis the x — axis and
center (1,0,0).

(C) hyperboloid of two sheets with axis the x — axis and
vertices (1,0,0) and (—1,0,0).

(D) ellipsoid with center (1,0,0).

(E) elliptic paraboloid with axis the positive x — axis
and vertex (1,0,0).

CamScanner 2 Ldgo d> guuaall



Ifd=<24,-3>,b=<2,-1,1>, then prﬂjﬁg=

A)1 <2 -11>
)T-c:_,l—1>
C) qu<:2—11:>
D)“<24 2,
E) 5 <2,4,-3>
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IfP,(0,0,1),P,(2,1,3), P3(3,0,2) and P,(4, 2,1) are points
in space, then one of the following is true

(A) P;,P,, P; and P, are coplanar.

(B) The volume of parallelepiped with adjacent edges P, P,,
P,P;, and P;P, equals 16.

(C) The volume of parallelepiped with adjacent edges P; P,
P;P;, and P; P, equals 12.

(D) The volume of parallelepiped with adjacent edges Py P,,
P, P;, and P; P, equals 3.

(E) The volume of parallelepiped with adjacent edges P; P,,
P,P;, and P, P, equals 4.
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The distance between the line: £ = 1 = :1'1, and
1

3
the plane 3(r +1)+2(y—2) —3(z—1) =0 equal:

O O
w

m
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| The integral that represents the volume of the solid en- |
" closed by the coordinate planes and the plane 2z +4y+2z =8

 ise

4—x—2y

CA) [T dadyde

4—x-2y

B) [ [ [ dedyds

2-& d4-x-2y

o) [, ), /.

D). f: [“ fd dzdydr

0

E) fd flg f“l(J L =2y)dzdyds

O A)
i o) . 5

‘c)

.t
v

O D)
i E)

Clear my choice

(4—-z— 2y)dzdydzx
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\ V3 —yd
If we convert the integral j:] " ) v e* " dgdy, to polar co-

ordinate then the result integral will be:
A) [ J; e’ drds
o8 2 2
B) j; fn re” drdf
& 2 2
C) [ [ re” drdf
D) ff ) “re drd
TN '

0
2
|

E) [* [ ¢ drdo

Clear my choice

CamScanner 2 Ldgo d> guuaall



‘Question 10 |
.‘I{I N ot yet '5
‘answered

' Marked out of

.4.00

¥ Flag j
question ’

Letz + 3e™ + 4yz”? + tany = 10. Then°:_;=

(A) 1+8yz

3xeXY+4z24sec? y

- 3xeY +4z24sec?y
(B) -

‘3yeXy
3xe*Y +4z2+sec? y
() - B
3}!0’:}'
(D)

(E) —

—

IxeXY+4z2+sec?y

San a3 2
JxerY +4z°+sec” Y

1+8y2

A)
B)
C)

D)

___A
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Questaon ]3 |
[ Notyet =
-answered
- Marked out of

.4.00

7 Y Flag
- question

R T et AL L0 g T
VR AR Rl B o

‘ﬂm”’,H“*‘W{T”H"”ﬂ;"j"’r*‘"?j*’ A e
Let f(x,y,2) = y2x*2*. Then . f
| j

(A) the maximum directional derivative of [ atthe point (1,1,1) is 6

and it occurs in the direction of ( —)

(B) lhe minimum directional derivative of f at the point (1,1,1) is 6

and it occurs in the direction of (—-},— i. — ;)-

(C) the maximum directional derivative of f at the point (1,1,1) is 6

and it occurs in the dlrectnon of (i ;, ;).

(D) the maximum directional dérivalive of'f at the point (1,1,1) is /3

i Rt T
and 1t occurs in the direction of (-\E’ Nl _\E)'

(E) the minimum directional derivative of f at the point (1,1,1) is —V3

: L) . 1 ¢
and it occurs in the direction of (——3 T e 1

[

D A)
B)

el ad gt T
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If E is the region below zy—plane and above the cone
2 = —/22+ 12 and between the two spheres z? + 3 + 2> = 4
and 22 +y? + 22 = 9. Then the integral [ [ [/z? +y* +2* dV
in spherical coordinate equal to:

A) f: j; - j; 1 pising dpdfdd
B) [f 7 [ psing dpd8de

dg  ox 3
C) f{r [ I, pdpdbdé

£

D) [& I [, pPsing dpdodg

E) f& I [ p dpdbdd

O A)

O B)

=0

o E)

Clear my choice

O C)
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Iif |(2a + 3) x (a — S)l — 24, then the area of the parallelogram determined by @ and bis
O AR
O B. 4

O C.3
D.8
(»E. B

Clear my choice
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The helix F(t) =< sint, cost, t >intesects the ellipsoid £2 + y*> + 222 = 19at t =
A.£3

O B.=42 _

O C.+1 /2T S

O D.There is no intersection

O E+4

Clear my choice
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Question O ':_ | i ST sy

Not yet If we change the integral f J f v & dzdydz to cylin-

| answered drical coordinate, then the result integral will be:
Marked out of | X
| 3.00 '% w 3 8. g
| | A) [ [ [, r°cost dzdrdf
] | oJ T 0 r2
V’ Flug z
L question

I

R = B) | “f . [ g reosd dzdrdf
Jg Jo Je2
C) | o X [ h“ r2cos dzdrdb

D) f f f .r")c."r)s(;’ dzdnrdf

- I 120050 dzdrdd
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4
If we change the order of the integral fﬂ ’ _]; f(z,y) dydz,

then the result integral will be:

A) [ f(z,y) dady
B) [ [ f(z.y) drdy
- ©) [} [, f(z,y) dady
D) [, J, J(wy) dedy

E) J IVH f,,-s f(x,y) dedy

O B)

Clear my choice
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. Minimize f(x,,2) = (x —4)* + (¥ — 2)* + z? subject to the constraint

. x243y%2—z2=0 toget

(A) (2,1,V5) and (2,1, —V/5) are the points on the cone z % = x% + y? that are closest to
the point (4,2,0).

(B) (2,1,V/5) and (2,1, —V/5) are the points on the surface

z2 = (x —4)2 + (y — 2)? that are closest to the cone z? = x? + y?,
(C) The smallest value of the function f(x,y,z) = (x —4)? + (y — 2)* + z?
that safisfies X2 4 y? = z Zoccurs only/at the point| (2,1, —V5).
(D) (l,l,w/f) and (1,1, —+/2) are the points on the cone z 2 = x2 + y? that are closest to

the pomt (4. 2, O).

2

2

"~

(E) (4,2,0) is the points on the surface  z? = (x — 4)® + (¥ — 2)? that is closest to the cone z? = x
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= 3 e s S S R R — -
Questond. | | 2
b eivd y ex
e = . Then lim X,

-_NOt Y'B_t L \} il Let f(xn Y) ya+u: Th (x.y)_.(o'o) f( y)

answered ‘1 Ly

A_-Mdrkéd out of L

400 | 1 (A) exists and equals 0 since f(x,y) approaches (0,0) along any path of the form

Xoflag | x = my? the limitis 0.

question

I _ i

(B) t_axists and equals 1 by using Squeeze Theorem sinc;e 0< y’,’ T3 = e*,
and lim e*=1
(x,y)~(0,0)
(C) does not exist since ¢ is an indeterminate form.
(D) does not exist since if (x, y) approaches (0,0) along the line y = x the limit is%
and if (x,y) approaches (0,0) along the line y = 3x the limitis -i—.
i (E) does not exist since if (x,y) approaches (0,0) along the line y = 3 the limitis 1
and if (x,y) approaches (0,0) along the line x = 3 the limitis 0.
O' A)-
> B) s
1 > ©)
| BB = N\
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If (\/_ —1/3,-+/6) is the rectangular coordinate of the point

p, then the spherical coordinate of p is:

A) (2\/_'.'4’
B) (2v3, 1.5

C) (2v3.%.%

E) (2V3, T %

Clear my choice
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|
l Question 4

| Not yet

§ answered

|

- Marked out of
3.00

¥ Flag
guestion

- Previous activity

The angle between the two planes  + 2y +2=1andz — 2y — z = 2is

O A.cos1(%)
B. cos ! ()
O C.cos (1)
O D.cos1(2)
75k cosTH(H1) |

Clear my choice

Jump to..

L |
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If the area of the parallelogram determined by@ and b is
equalto 6, then ||(2@ + b) x (@ - b

(A) -18
(B) 6
© 0
(D) -6
(E) 718
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The curvature of the helix 7(t) = < 2cost,2 sint, 2t > is

O A3
OB_.TIQ_
O’C.l_lo
O D.3
[l 2

Clear my choice

ity i A B8k S
_ | Jumpto.. 33
s i i fofirsnh Tl b
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3 If f(x,y) has a continuous second partial derivatives and
. fi=(@x—x*—5y?)e and f; = 10ye™, then

(A) £(0,0) is a local minimum and (2,0) is a saddle point.
(B) (0,0) is a saddle point and f(2,0) is a local maximum.
(C) £(0,0) is a local maximum and f(2,0) is a local minimum.

(—2,0) is a local minimum and

(D) f(0,0)1sa local minimum, f
(2,0) Iis a saddle point.

(E) £(0,0) 1s a local maximuin. f(0,2)and f(2,0)are local minimum.
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' Question 2 '

' Not yet
answered

Marked out of
| 400

: Y Flag
| question

Let f(x,y,z) = x?y*z*. Then

(A) the maximum directional derivative of f at the point (1,1,1) is 6

and it occurs in the direction of (E, ;I, 5}.

(B) the maximum directional derivative of f at the point (1,1,1) is 6
2
] E}-

(€) the minimum/directional derivative of f at the point (1,1,1) is 6

. - # » 1
and it occurs in the direction of (-3-—,

wim

. \ \ 5 E 1U 2 2
and it occurs in the direction of (—;,—;. - ;}.

(D) the maximum directional derivative of f at the point (1,1,1) is V3

, ) it T e
and it occurs in the direction of {Ti',,_fi‘\_ﬁ)'

(E) the minimum directional derivative of f at the point (1,1,1) is —/3

" .t - i . N 1 l 1
and 1t occurs in the direction ol {—:_G" — v_’:?)’

a
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The integral that represents the volume of the solid en-

closed by the coordinate planes and the plane z + 2y + 2z = 2
is: i

2—xr—2y

INEAA J; " dudyde
B) [ [ I ‘[:_"2”(2—:::—25;) 2dydz
c) [ [ [T dzdyde

Dy [ [ dedyde

f" J" I" (2—2— 2:;)r!..fh;u'r

) "A)
O B)
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ITEES CALCULUS sl poaa General First Exam

-~ “'{’ - "‘;I. and

eciial:

The distance between the Iiur::
the plane 3(z =nd)=k20 A =3(=

l"'--.-L by
S
p——
| —

A)s

‘-.-

13) 1—-:7:,
C)
D) :m-;

E) 3
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A 20-V emf placed across a series 3 points
combination of two resistors causes a
current of 2.0 A in each of the

resistors .IF the same emf is placed

across a parallel combination of the

same two resistors and a current of 10

A through the emf is observed , what

is the higher of the two resistance 7 *

How many time-constants must 3 points
elapse if an initially charged capacitor

is to discharge 55% of its stored

energy through a resistor? *
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If (- 3.3, V6) is the rectangular eoordinate of the point
iy then the spherical eoordinate of p is;

A) (2v3.5,2)

M fa 3 =
3) (223 5. 5)
C) (2v 2, 5
D) (2R

!"'-1| 'I-I"L'.-'}- :I- %i
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The heln F(I) =< xint, ecoet, | > intesacts the slipsoid 2° 4 y* 4+ 227 - Dot

D
B 44

vess  POWEROUNIT

O Thers is no nlarsochion
o E 49

s mw Choacs
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IT f{x,y) has a contmuous second partial derrvatives and
fo=(-2x+ 3%+ Sy")e~" and f, = —10ye™?, then

(A) F(D,0) is & local minimuem and (2,0) i 8 saddle point

(B)(0,0) » n sadidle point and f{2,0) = a bocal maximum

(C) (0.0} & o bocal mavimum and (2,0) is a saddle poimn

(U U000 1 & bocnl munimum, f{—2,0) 5 a kcal minimem and

(2,0) w0 o saddle pout

LEY F(00) moi bocal maavemum,  [{02) and F{20) are local mumimsm
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If £ is the regiﬁn above the cone z = —/z? + y* and be-
tween the two spheres 22+ %+ 2? = 4 and 2%+ y® + 22 = 0.
Then the integral [ [ [/2%?+y?+ 2? dV in spherical coordi-

nate equal to:
A) f: j; T j; ] psing dpdfdep

B) [* [ [ psing dpdodg

'C) _];JP _[:l _]:tp dpdfde

D) *];L'F ‘ffw _[: prsing dpdfdg

E) [‘T fnh fi p dpdOdd

O A)

1 B)
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Minimire f(r,y.2) = (2 =4y 4 (y=1)7 + 1" subject 1o the comtram
Pyl -ri=0wpn

(A) (2.1, 5) and (2.1, =+/5) are the pomts on the cone 27 = x? 4 y? that are closent to
the point (4.2.0)

(B) (2.0, 45) and (2,1, =5 e the pomts on the mrface

pP= (x—AY 4 (W 2)7 that areclient b the e 2 ¥ = 3 4y

(C) The vmallest vakie of the functen f{r.y. 2]l = (1 =417 4 (v =2} 4 1?
that sadisfien 17 4 ¥ = 2 T ncours enly nt the pomt (2,1, —4F)

(D) {1,0,472) and {11, —+/Z) are the ponnts on the come 24 = 19 4 47 (hal are chosest o
the et 4, 2 0]

(EV(42.00 0 the posats onthe surfasce 29 = (1 —4)° 4 (¥ — 21 that » chosest bo the come =gt syt
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Il E is the region below the cone : = /r* + * and above the
cone = = r..,,i'r + y* and hetween the two spheres r° 4+ -q-.‘ =4

and r* + y' + 7 = 9. Then the integral [[ Jvr+y?+:2dV
in spherical coordinate equal to:

A) f; r?. j: ;rll.*-uu:l dplifeds

B) [E J:l _[: ising dpdiide

C) [:‘

[_h Illl jlt'hi'l'“.'l |F[n|'Hrr'._'.
s I
n..l I‘a_ [ l I"-"'| flid Ih.r.'rrf. .

) [ [ [ pdptade
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The angls blweenthetwoponesr + dy < 2= lanax+ dy = 2is

_ horos 'l: ]

¥

B ens V= }
\-EI
Fl /) (P
0 /I\M“ -”" — //f,H‘\
! E ”1‘.‘ I — Iy \\‘v Vz\\/ ‘#u" ,7 \ \\\ / L’—
I.,-'m e

TERL
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The angle between the two planesT 4 2y+ z=1landz +y+ 2z =2is

O Al cos‘l'(%) : | B
O B.cos™!(1)

O C.cos™1(—1) | |

O D.cos (21 Y/ \WY G SN | | :
O E cos! (&) '
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- If we convert the integral J; ’ fw_m e* V' dxdy, to polar co-
ordinate then the result integral will be: N ' n

i A) f; q]::‘ re” drdf - i
B) [F ['rer drdo .y
) [" [ rer drdo
D) [ f) e drdo

E) _]:lt j;;l " drdf
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. Mg Time left 0:28:33

T

e l(2a +b) x (@ — b)| = 24, then the areqa of the parallelogram determined by @ .cmd.lgis -
O A.8 I i ' i
O B.4 _
O C.3
O D.12 TN '

| | t >
O E6 |
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O B 4 0 ' i L T

Lt W e I [,} l'-.-ll'} .' |

il
il

. If we change the integral [ : i ' M "z dzdydz to cylin- i
-2 (1] R2+ |
drical coordinate, then the result integral will be: |

A [ L reosd dzarao G
’ | R B

B) J; J; I, Twtensh dtdedd O[T

C) ff I/ _2 / r2cost dzdrd B0 i | -"r'*".":'j _.:;

D) ]: .h . f[ ]2 fr ,:,,2 r2cost dzdrdl

E) [ [ 12 | i_ " reost) dzdrdd
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=
Question 7 '

Not yet
answered

Marked out of
3.00

¥ Flog
question

Time left 0:40:36 ]

If (—v/3,—V/3, V3) is the rectangular coordinate of the point

p, then the cylindrical coordinate of p is:
A) (V6. %, V3)
_ B) (V6, Z.¥/3)
C) (V6. 5. /3)
D) (vV6.%.V3)

N
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Question B : ~
Not yet Minimize and Maximize f(x,y,z) = (x + 1)*+ (¥ + 1)+ (z +1)?

answered

subject to the constraint. x* + y? + z2 — 27 = 0 to get
Marked out of |

4.00

¥ Flag (A) (3,3.3) is the point on f(x,5,2) = (x + 1)* + (y + 1)% + (z + 1)? farthest from
' question |

| (0,0,vV27), and (—3, —3,—3) is the point that is closest

(B) (0,0,v27) is the point on the sphere x2 + y% + z2 = 27 closest to the point
(—1,—1,-1), and (0,0, —V27) is the point that is farthest.

(C) (3.3,3) s the point on f(x, 3,2) = (x + 1)*+ (¥ + 1)* + (z + 1)2farthest from
" _ " (0,0,¥Z7), and (—3,—3,—3) is the point that is closest.

(D) (3,3,3) is the point on the sphere x? + y? + 22 = 27 closest to (—1,—1,—1), and
(—3,—3,—3) is the point that is farthest.

W

(E) (3,3,3) is the point on the sphere x2 4. y2 + z2 = 27 farthest from the point
" (-1,-1,-1),and (-3,-3, —3) is the point that is closest.

D A)
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P01, 00, Fa(4,3,2), (3.4, =1 ) aml Fa(5,6, 1) are potnts
in spisve, then one of he filloweng s true
(AY Py, Py 75 anil Py ave eoplaniar,

(B} Tl voluwme of paralichoplped with adjacen idpes P,
F.f'.. il .'|| '.| |.'||1|:I1l|- L

(L) Tl ol f | corabbedop gl withi seljicren ealges 7y P
Py Py, il Py eepudile 13

VT sosbontines ool goanatlbelugidgund ek andfonpqin aaljres M,
|“t Iy anil .I”I f'_. -|-l||||.|.|- &

(EY 1 1-l||-IlI:I|-|--||'||L1'|:|||||-|1|r|-|-.||l.|..|1||..|.|| wanl eefgries I|:I'.".|_I
-'.| [I"_Illlll I.I'| P..' |||l1.1]l|| L
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The helixT'(t) =< sint, cost, t > intesects the ellipsoid 2 + % + 22% =3 att =
O A 14 :
O B.43 |
- - . 1 II.
O c.+1 ; - '
OD.£2

O E. There is no intersection
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Wops the gty o feitesrse Lo haokbweon the sy plivae il

Ul T ¢ L -2 ) = 101 7 =0~ Tha the eqgune
B (XTUICEY I B ST AT 1m-~--n ol o nml prowandliol b Ehoe Hoe
I Ii ..:l‘ ',I Il" I—' I-'l i_q

N J ','r TR B | 11

Hg r =0 i [ 4+ .0

i _ @@W@ROMN
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' Questinn]

Not yet
answered

Marked out of
400

¢ flag
question

K Type here to search

[

Letz + 3e™ + 4xz* + tan y = 10. Then oz

140y
(A) Ive*Y4sect y

Ive Y g0
(B) — 4
Ive Yaaz?

Ive™Y4sect y
(Cy -
Bxzx

Ive 'Y asecty
(D) — =
14bve

[,_/}» { ’ Q\J 5 .r'@ F /)l:ﬁ:m
POWER®

Ave Y dnecd y

UINIT
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Minimize f(r.y,2) = (x —4)* + (¥ = 2)* + 27 subject o the constraint
x*+y'-2*=01w0pe

(A) (2,1,¥/5) and (2,1,—/5) are the points on the cone 22 = x7 + y? that are closest to
the point (4,2,0).

(B) (2.1, V5) and (2,1, —+/5) are the points on the surface

r?=(x—4) 4 (v~ 2) hat arc closest 1o the cone 22 = 17 4 y?

(C') The smallest value ofthe function f(x, v, 2) = (x =4 +(y-2)* 4+ 1}
that satisfies x¥ + y? = 2 2 occurs only at the point (2,1,—45) .

(D) (1.1,82) and (1,1, —Z) are the points on the cone 27 = x¥ + ¥¥ that are closest to
the point 4, 2. 0),

(F) (4,2.0) s the pounts onthe sinface 27 = (r =4 4+ (y = 207 that mchosest o thecone 28 = x° + ¥*
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\.‘l—r‘-‘l agd-y?

If we change the integral [ [ j_;:;' z dzdydr to cylin-
drical coordinate, then the result integral will be:

A) _[‘1 j: j: rrcost dzdrdl)

. 3 At
B) _r” jl J: recostl dzdrdf)

C) r [_f* 2cost dzdredd
D) [ [ (s

IZ) l. r [ " reost ddrdd

A)

@ 8

0 )
)
Y [._]

Cleor 'y choice
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tol

If E is the region below the cone = = \/r? + y? and above the
cone : = —y/r? + y* and between the two spheres r+y°+:7 = |

and r* 4+ y* + 2 = 9. Then the integral [[ [+ +2av
in spherical coordinate equal to:

A) j; [T ising dpdodo
B) _]'”* _[. j'__‘ prsing dpdde
C) _[;& [ [ isine dpdade
DY ittt

B) [0 [ [yt
b

Z A)
o a)
@ o)
1 D)

E)

Clanr my choice
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If f(x,y) has a continuous second partial derivatives and
fi = (—2x+ x* + 5y")e " and f, = —10ye "%, then

{A) £(0,0) is a local minimum and (2,0) is a saddle point.
(B) (0,0) 5 a saddle point and £(2,0) is a bocal maximum
(C) f(0,0) s a local maximum and (2,0) is a saddle point.

(D) £(0,0) is a local munimum, f(=2,0) s a kocal minimum and

(2,0} 1s a saddle paint

(E) f{0,0) 15 a local maximum, [(0.2) and f(2,0) are Jocal mimmum.
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e 14RyT

(M)~ T sartesec y

wwe 'Y eaptanec? y
Tye?¥

(=

1oty s andanee” y
Hys

Ly —

L™y

1ol sdrd dnred ¥

{1

WiV wde s ¥
12 B i Vs Wir

Letz + 3" + dyz* +tany = 10.

— _-

dy
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question |

ar
Not yet Letz + 3e™ 4+ 4xz* 4 tany = 10 Thcnﬂ—r =
onswered
siarked out ol .
400 | 140xz
T flag ( } Ire* +5ec’ y .
question

IreY 4sec’ ¥
() —
Iye?Yaiqr?

. Ive " Fesect y
(€)==
Vi

we' ¥ esecly
Ny - :
[' ) {#livz

Iy 'Y o4
()

b VY e
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The angle between thetwo plonesr + 2y+z=landxr + Jy =z=2is

T Aros '[_I"E}

i
8
' mie :m'.}
c J S
rns = }
D. J
E[I g f.,,-}}ﬁ
Loeos rr.]

Clagr my choices
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The helir 7(f) =< sint, cost, t > intesects the elipsoid 7° 4 y° + 27 — 19art -

T A 4]
B 44
. C :}.:3
i 0. There is no intersection
T E 42

IIF:I'-.FJII r.ll'. ':I_l.l._'-
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Let f(x,y) = 22 Then lim  f(x.y) | Time

rledyt {r.y)=(00)

(A) does not exist since if (x, y) approaches (0,0) along the line x = 0 the limit is 0

andif (x.y) a.ppmachﬂs (0,0) along the curve y = x the limit is ;

.I'I-lﬂj"

(B) exists and equals 0 by using Squeeze Theorem since 0 < < sin’y,

and lim  siny =0.
(x.y={0.0)

(Cyexsts and gquals D since f(x, ) approaches (0.0) ale~ any line of the form

x = my the limitis D.

(D) does net exist since - = |s an indeterminate form,

(E) does not exisl since if (x, y) approaches (0.0) along the line x = 3 the limitis 0

and Il {x,y) approaches (0,0) along the line x = v the limit is ;-
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1 = &
If we change the integral f_aj:‘ * f,

f

A

I

r dzdydr to cylin-

drical coordinate, then the result integral will be:
st of

SN " Peosd datrdn
w [ [ " Ceust dadrdd
C) [7 A et et
Dy [ [ P 2eos dzdrdd
E) (] i NPT ANEN =7

i ,r.,}
@ o)
R - |

o)

E)

=3

i

CamScanner 2 Ldgo d> guuaall



Question B . , '
Minimize and Maximize f(x,y,z) = (x + 1) + (¥ 4+ 1)? + (z + 1)?

Not yet 'p

anewered | subject to the constraint. x2 + y? + 22 — 27 = 0 1o get

Marked out of |

4.00 |

¥ Flag i (A) (3.3.3) isthe pointon f(x,y,2) = (x + 1)* + (¥ + 1)* + (z + 1)? farthest from
question (D,D.ﬁ], and (—3, —3, —3) is the point that is closest

(B) (0,0, /27) is the point on the sphere x2 + y? + 22 = 27 closest to the point
(-1,-1,-1), and ('D.[.'l. —m] is the point that is farthest,

(C) (3.373) is the point on f(x, ¥,2) = (x + 1)} + (v + 1)? + (z + 1)*farthest from
' (0,0,vZ7), and (—3,—3,~3) is the point that is closest.

(D) (3,3,3) is the point on the sphere x? + y? + 22 = 27 closest to (—1,—1,-1), and
(—=3,—3,—=3) is the point that is farthest.

(E) (3,3,3) is the point on the sphere x?2 + v2 4 22 = 27 [arthest from the point
(—=1,—1,—1),and (=3,-3,=3) is the point that is closest.

-]

.ﬁ)
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| Question 5 \

Not yet '1 If f(x,y) has a continuous secand partial derivatives and
. ed -

answer | fx _ _Iﬂ + }' " fr —_ x_y3. thcn
| Marked out of

400

v.ron (A) f(£1.1) and f(+1,—1) are local minimum and (0,0) is a saddle point.
| question .

(B) (0,0) is a saddle point and f(+1,1) and f(£1,—1) are local maximum.
(C) f(£1,1) and f(L1,~—1) are local minimum and £(0,0) is a local maximum.
(D) £(1,1) and f(=1,—1) are local minimum and (0,0) is a saddle point.

(I2) (0,0) 15 a saddle pont and f(1,1) and f(=1,=1) are local maximum.
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The helix () =< sint, cost, t > intesects the ellipsoid z? + y* + 22? = 3att =

O A 14 B _ -

O B.%3 -
O c. +1 : . N
O D.£2 . INHLIT

() E. There is no intersection
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The integral that represents the volume of the solid en-
closed by the coordinate planes and the plane r 4+ 2y+ 2 =2
iS: :

A)'j: _)': ‘EJH' dzdydx

d=r=3p

B) [ [,

C) f? fl_i 1 T dbdydz

- D) fi .rl f: dzdydr

(2 — z — 2y)dzdydr

E) ,ru fl f:(f? _ = 2y)dzdydr

. A)

. B)
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Question 2

. T
Not yet ‘ Let f(x,y.z) = x?y*z .Tl:n:n

answored

k r : irect] ivati ' '
Marked out o (A) the maximum directional derivative of f at the point (1,1,1) is 6

| 4.00 |
: ¥ Flag and it occurs in the direction of {;. ;: 5}-
question )
(B) the maximum directional derivative of f at the point (1,1,1) is 6
and it occurs in the direction of (%. E. g}.

{C) the minimum directional derivative of [ at the point (1,1,1) is 6

: : % N 1 U 2 2
and it occurs in the direction of {—;, = ;}.

(D) the maximum directional derivative of f at the point (1,1,1) is V3

: : T T N
and it oceurs in the direction of {Ti'_'i'_’_f}‘
% - L W -

(E) the minimum directional denivative of [ at the point (1,1,1) is -3

. . . 1 1 1
and it oceurs in the direction ol {——=, ——, — =),
| ek | wd
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The equation of the plane that contains the two lines

Iy:x=142t, y=141t, z=2+41, and
Lo:x=1—-28, y=1+438, 2=2-38 is:

A)—dx — Ay 442 0
B) 2z —4y 482 =10
C)2r+42= 10

D) —4r 4 8z=12

E) 20 — 4y — 82 = —18
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The rrgwm o R defrd by the fibm g wwesaleon
dsrfey’cib p<tin

[A] AT pumats thuat b bt uomn the ram comuler cybomborm 1?4 5! = 4
wd 11 4yt = 1 arnd e e plaw s = L

(T AR prants theat L bt mawn (ow om ] the tus corrhem 17 & 3% = @ et
P ey' m 16 el shine the lewr ™ |

[U) Al ity that e hetween (or en' the rwo cirrks 37 ¢ 37 = 4 ad
Heylm lbmndinhow e ko gm L

(3] ALl puowrsts that o Scworm fow on) e fwe crvalar cyteshons
Fey'mdamdr' 4y = b bviw B plae F = |

L] All prents that ler on rie two covular crleders

2Ty b 47 m 18 el bebom the plaew 7 = 1,
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Tiw quadnic surface y? + 2= 2y + 37 427 s

(A} hypertalon] of two sheets with asis the y = axis and
vertices (0,1,0) and (0,-1,0).

(W) wirrulae perslolond with avis the positive y = axls sod
verten (0,1.0).

(0] ellipmesnl with center (0,1.0)

(1) Aliptac vone whine svis U y — axis and the veries
(0.1.0).

(E) hyperboloid of une shicct whose axis the y = axis
and center (0,1,0).
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17t wred & arw twe nomiern veetess bm space sich it
(2 =68) e (37 + W) are orthogrest, then

(A 1R = O

(1) # wewd (32 4 W) wrv orthwogoenl

(C) ¥ el & wrv orthogorsl
RO T

(W= =30 ¥ =235
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|. o
Question 5 }I
Not yet
answered ‘ =
| f;c——.l‘a*i—}'. fy=x_y3,then
Marked out of
400 l

If f(x,y) has a continuous second partial derivatives and

" \" Flag ll (A) f tj:l,l) and f(%1,—1) are local minimum and (0,0) is a saddle point.
| question | -

(B) (0,0) is a saddle point and f(+1,1) and f(:tl,-fl) are local maximum.

(O) f(£1,1) and f(£1,—-1)are luc?al minimum and f(0,0) is a local maximprn_
(D) f(1,1) and f (=1, —1) are local minimum and (0,0) is a saddle imint.

(E) (0,0) 1s a saddle point and f(1,1) and 'If(u»l. —1-) are local maximum.

¥

O n)

r1‘|.

CamScanner 2 Ldgo d> guuaall



ll Question 11

INDI?E[ If we c £ 10 SRR T P
. answerad | onvert the integral J:. f_:; & dydz, to polar -
[ Sraroad aut of coordinate then the result integral will be:
3.00 e
I Flog A-) f! j; e™ drdl

quaslion

B) [ [rer rdo
C) J‘;E J:l re” drdf
L PR 2
D) f* J‘; re” drdd)

E) f‘ fl re” drdll

0 A)
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The curvature of the helix 7(¢) = < 4 cost,4 sint, 4t > is
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I£|(28 + B) x (@ — B)| =
O A.8
O B.4
5 c.a
O D.12
OEB

Time left 0:28:33 J

24, then the area of the parallelogram determined by @ and b is

-
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Let f(x.y.2)= riz4y’z’. Then

crivative of [ at the pon (1,1,1)1s =B
- -—.'F

] um:unmlltdl:rmlnn ol l.'—~v -

(A) the munimum directional d

(31 the maximum directional dervative of f al the pamt (1,1.1)1s V3

and 1t occurs in the directon of I: = e ’.II

('} the mmimum directinnal derivative of f af the point (1,1,1) s 6

i - . l! &=
and # peeurs in the direction of (= e .- ﬂ'

(1) the maximum directional denvative of [ at the pomd (L1 B

and o ocetrs i e threctian of 'I:— 'S -1~
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If we convert the integral f f

ordinate then the result mtegral will be:
A) f.* [ rer drdo

B) [, Lo W@ROMNUT
C) f f re” drdf

D) L' J:‘ re’” .H’-I‘d?

E) J:IE fl: e drdo

e* v dxdy, to polar co- |!21 i
N

B 'lu'll‘-',

H-.-
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The angle betweenthe twoplanes £ +2y+ z=landz + y+ 22 = 2is

O A.cos™ (%)
O B.cos™'(1)
O C.cos™(—1)
O D.cos~! (=)

O E cos™! (%)
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If E is the region above the cone z = —/7z2+? and be-
tween the two spheres 2+ y* + 22 = 4 and 22+ > + 22 = 0.
Then the integral ffFerE + 1% + 22 dV in spherical coordi-

nate equal to:
A) f: j:' j:’ psing dpdOde

B) jf Lh f: psing dpdfdd

©) [T [T [ dpasis
D) [ [T [ phsine dpdode
E) f_ Lk fl o dpelfed e
g o
il

B)
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Time left 0:40:36
| Question 7

Mol yet
answered

If (-3, =3, V3) is the rectangular coordinate of the point

p, then the cylindrical coordinate of p is:
Morked oul of

3
3100 _ A) (V6,23 V3) | ;
{" Flog Y \J 1
guestion B) {\/{_} 515 \/:di]

C) (V6. 2. V3)
D) (V6. 2.V3)

E) (6.%.v3)
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If we change the integral _]' L B f:;: " dzdydr to cylin-

drical coordinate, then the result integral will be:
* 2 _R—r
A f S, [, 1Pcost dzdrdf

B) [ [ [ W@W@@.@NHT =

C) f [ I " 2c0s0 ddrdl

D) [ 123 [ .2 I ;_r ricost) dzdrdf

E) _II‘: I:.: _f:FrL reost dzdrdt
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If we change the order of the integral j; ; i : f(z,y) dydz,
then the result integral will be:

~A) f[,ﬂf:; f(z,y) dady [s
e
B) [ [ f(xu) dudy

| C) f: j:ﬁ f(x,y) dxdy
D) [: f: [, y) dady

E) -I;ph !-[-'-; jT('T" .U:l f;.l'ffﬂ'
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—

Zaly = Z|m] (31)
leuoSoiio ae m pue a (1)
‘ag—=mlomz =a (D)
To1[110 dae (mz 4+ a) puea (¢1)
Ay = gla] (v)

unp ‘euodorpdo s (ap— mz) pue (m+azg)
e yns 23uds UL S10130A OIIZUOU OM] B M pUE a |

CamScanner = g d>guaall



Cusstian 13

Nt yal
onTvwanad

Magried ot ol
400

™ Mog
gLnstion

i 1)

(A) does not exist since if (x, y) approaches (0,0} along tha line x = 0 the limit ks O
and If (r.y) approaches (0,0) along the curve y = x? the limit is E

(B) exists and equals D since if (x, y) approaches (0,0) along any path of the form
y=mx of y=mx?ihelimitisD

xt
IImllj'ﬂﬂIMﬂ'ﬁ—.-;.—:FEL

(C) exists and equais 0 since L 8

(D) does not exisl since E is an indelerminate form.

(E) does not exist since il (v, ¥) approaches (0.0) along Ihe line x = Tthe limitis 0

] L
and il (x,v) approaches (0,01 along the line ¢ = Jy the limitis 5

Tirna I|n1'l; IE. ﬂ-l:]

| Quiz navigation

R
= v

Firnsh attempl
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If we change the order of the integral f; _f; f(z,y) dydz,
then the result integral will be:

A) [ f(z,y) dedy

B) J. I, f(z,y) dxdy

C) I: L'z f(x,y) dxdy
D) [ I S (a.y) drdy

) [ 1 Jr.u) ey

|:] A)
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Home My courses CALCULUS I/t puas, General Final Exam

Time lef

Question 15 The curvature of the helix7(t) = < 3cost, 3 sint, 3t >is
Hot yet
answered AL L
Marked out ol i
300 © E'..TI=Ir
1" Flog B 1
questian O C. B

D, IJF 1

{1 E. ]—lg

Finesh ot
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345 () Xl b

10:27 ! T -

{  Final. .Exam. .Calculus (3)-Section 4 (10177...
O 2y+2z=0

10. *
(2 Points)

a=(LLDb=(=100)

- " & |
| wh =g

——

O 3

3.5
(2 Points)

_— ]
u_;,lz.rﬁ. T

1
i
u=2h

o 1= "
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< Final. .Exam. .Calculus (3)-Section 4 (10177...
B e

O 8

6. Find the directional derivative of *
(2 Points)

flevi=« +ve™ althe
point ACLOY in the direction
from A 1o Bi(1L.5)

O F
O 3

O %

?’"
(3 Points)

J [-I: J :.. fdvdx +
(Y12, fdvdx =
[l O N
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10:27

T
-

{  Final. .Exam. .Calculus (3)-Section 4 (10177...

\“ J= Jo J op tuaru

9. Find the equation of the plane passing through

the points *
(3 Points)

A0,0,0) 810,1.2) and parallel

to the tangent plane 1o the

surface =" vat (1L,1.1)

O 4x-6y+2z=0

(O 6x-10y+2z=0

O 5x-8y+2z=0

O 3x-4y+2z=0

O x+2z=0

O 2y+2z=0

10. *
(2 Points)

a= LD =(=10.1)
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3 () sl gy

10:26 !l T -

{  Final. .Exam. .Calculus (3)-Section 4 (10177...

O 5t=y=5

3. -
(2 Points)

JLOIV R v =

0 -¥
Q -7

4, Using double integrals, write the volume of the
solid bounded by: *
(2 Points)

=l ad =y,

v=x® and y=2-y
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< Final. .Exam. .Calculus (3)-Section 4 (10177...

S Jo2 )2 Ty T

O Y] :‘-_T "y 46)dvdy

5' -
(2 Points)

Along the path
verd 4+l find
fim i

k
invi==ifh li NI L

@ -4

O -8
O -6
O 10
O 12
OF:

6. Find the directional derivative of *
(2 Points)

fleyvi=x"+xe” atthe
point A1 LO) inthe direction
from A 10 £10.5)

o =

|1 O

>
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LR - - T W - A

{  Final. .Exam. .Calculus (3)-Section 4 (10177...

O J3a f,“" “ f(rcos 0.rsin 0))rdrd0
4

2. Find symmetric equations of the normal line to
the surface: *
(2 Points)

z=x(l + %) atthe
point (2,0,4)

-2 _ Yy _ =4
2 4 =
x+3 _ ¥ _ 406
2 T 9T =

I
|
I
|

© © 6 6 © ©

2 Y -1
x4+l _ L, 42
T TYET
x+2 _ ¥V _ 44
BT /ANTO[H
-l _ ., _ =2
3 =X TTT

3. °

(2 Points)

| [2442y-x2
| Y I Y —ldvdx =

O
O -7

] O >
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] D3 ]2 (T e —
Bols5 D e [b
10:26 (1] ! ? £
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o Ty

4. Using double integrals, write the volume of the

solid bounded by: *
(2 Points)

r=rtevado=-d,

v=u1* and v=2-y

QO I ff:?'l.r:+;r‘+lﬂ]n.{m“.r
O [, [P (P4 +12)dvdx
@) I, IfE'Lr3+_v1+1h!y;h-
O [ L3302 07 +8)dydx
O [, [ 4y +d)dydx
QO Y 3+ +6)dvdx

5. -
(2 Points)

Along the path
y=v"+ | find

|1 O >
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1' -
(2 Points)

LI
In .r".mﬂ ey hdvfyv=

O [ ;“" " f(rcos 0,rsin 0))rdrd0
4

O [, f: " fircos 0.r sin 0))rdrd0
iy

™ [a f:, M fr cos 0, sin 0))rdrdo
4

O J..rt-r Iu: - ﬂfl:r cos 0. sin 0))rdrd0
I

110 sin &

o 3+ o flrcos 0,rsin 0))rdrd0
e

O _f"i_-. L:, MY £ (r cos 0,r sin 0))rdrd0
4

2. Find symmelric equations-of the normal line to
the surface: *
(2 Points)

s=x(l + ") at the
point (2,0,4)

|
|

o =2
2

I
I

O 3-8

2 Y -1

~ r=1 ¥ ==

|1 O >

CamScanner = g d>guaall
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O ¥

?. -
(3 Poaints)

_]-?1 _]'E' Sdvdx +
_f:, |} ; Sfdydx =

O J§ [%, rdxdy
O _r[l} _|“': JSdxdy
@, _f; _f: fdxdy
O [oflfdxdy
O _f:} _r': Sdxdy

O [ %, fdxdy

8. Using cylindrical coordinates, write the volume
of the solid bounded by *
(2 Points)

= (;T;-‘,::-I
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1. °
(2 Paints)

|ﬂ ."--""I_ ""E

i -“h

and |4 |= 3. The angle

between o and b s

O 1215
O 118.1
O 61.9
O 585
O 705
O 109.5

12. Let E be the solid enclosed by *
(3 Points)

=l=xsvz=l=n,
y=2=x and the vz-plane.

Then [ [ [——dV=
IS 12-nd

ﬁ J"i
] O

>

CamScanner = g d>guaall
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14. Let D be the region in the third quadrant
bounded by: *
(2 Points)

v =9 and

v ey = 1IN, then

J' I]l_n_ucﬂz
n

O -1946
O -1984
O -1872
O -1750
O -1998
O -1568

15, *

(3 Points)

CamScanner = g d>guaall



8. Using cylindrical coordinates, write the volume
of the solid bounded by *
(2 Points)

2= f'r:ﬂ:.,:'-'-l

and (ted) e =16

ir

Q 3 [F 7, rdzdrdo
i

O If Iﬂm i [" | rdudrdo
iz

O fi J‘ﬂ:mn IO\ rdzdrdo

O J

Ja o é I" rd=drdo

-u!'—-lhlf:;

ir
O !i II]-' o _r,. rdzdrdil

is
o 14 ,’," i I FF rdzdrddl

9. Find the equation of the plane passing through
the points *
(3 Points)

A(0,0,0).8(0,1,2) and parallel
tv the tangemt plane to the

surface == vat (1LL1.1)
e,

3= () sl gy

CamScanner = g d>guaall
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13. *
(2 Points)

L', f:‘ Y dxdy =
O r'“-l

r_
O 1"

et -
O

@ =

14. Let D be the region in the third quadrant
bounded by: *
(2 Paints)

433 =9 and
vy T =100, then
J [3txanida=

i

CamScanner = g d>guaall
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O %7

17"
(2 Paoints)

J [Il J ;ﬁ ey =

O He-§

I

—e-§
O £

18. Find the volume of the parallelpiped
determined by *
(2 Paoints)

a=(LL1).b=(-1LL1)
and ¢ =(1.1,-3)

O 4
1 O >

CamScanner = g d>guaall
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O -1568

15. ¢
(3 Points)

[ %
L:n .r',‘;T J'f.r.“" um”"{{-}d.‘r-f'u{t‘:

O 18+
O 97
O 127°
O 15x2
O 6x°
O 377

16. *
(2 Points)

Let r = radius of the sphere
Vaeyes e 20,

The distance from the conter
of the sphere to the plane
Hy-r=3ris

CamScanner = g d>guaall
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O e —e=2

18. Find the volume of the parallelpiped
determined by *
(2 Points)

a=tLLh.b=(=1L1L1)

and ¢ =(1,1,=3)

O 4
O 12

CamScanner = g d>guaall
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16. *
(2 Points)

Let r = radius of the sphere
ey 44220,

The distance from the center
ol the sphere (o the plane

vHy==3r s

{]

i

=

D B

© © © 6 © ©
I

T;;d-...a

17. °
(2 Points)

LI] J e dvdy =

>

CamScanner = Wgo d> gusaall



12. Let E be the solid enclosed by *
(3 Points)

=l=nevr==yx,

v=2—1 and the vz-plane.

Then f f f 2ra-
Q4
O3
O 1
Q6
Q5
O 2

£
(2 Points)

J :1 J :1 AV dxdy =

‘H_I

¢
28

A

]
2]
O =

et
O 16 ———

3 () sl Y
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elgd Iy 2 jlas

6 Jie
aylo ¥ Yo o

2.00 pa 03.sa7

P el g

If r'(t) =< 3cos3t,cost,2sin2t > and
r (%) = (1/1,3) then'1() =

A)< —cos2t+>,sint+,sin3t +2>
B) <sint+3,—cos2t+>,sin3t +2 >
C)(sint+§,sin3t,—c052t+% >
D)<5in3t,sint+§,—-c052t+§ >

E)<-—-c052t+% ,sin3t,sint+§>
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B) g‘n':=|+1
C) e =l+y
D) e¥ =1+x
E) e?“ =l+x+2

las g yzsl:

il Zm Ll dxaall

v el yasll sl scga

CamScanner = g d>guaall



Y o
X L-Q]Er-‘-ﬁjjhﬂijlf-‘ X E.‘l..g.l:g--._..._:g.tiiu}l.r-@ X i ddayill dealall [j]

: @ Imsystemjuedujo/mod/quizat vy ¥ X & 2> O

my -

The linear approximation of ¢~ at (0,1,1) is:

A) e =l+x+y
B) e™=l+z
C) e =l+y
D) e =1+x
E) e® =14+x+2

lasly y2sl:

il a5 LUl dxaall

X
P
12
£

CamScanner = Wgo d> gusaall
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3.°
(2 Points)

LA e

O -9
QO 4=

&7 0 WEROUNIT

4. Using double integrals, write the volume of the
solid bounded by: *
(2 Points)

=l e edo=d,

v=1® and y=2-y

O [ [0 4 10)dydx

O s e

CamScanner = g d>guaall
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=1
O%

7.°
(3 Paints)

_f‘iz f' Sddvdx +
Jo I fdydx =

B [7 17, Fdxdy
O [ J*, fdxdy
O 3 I7, Fdxdy
O 3 J7, Fdxdy
O [3T%, sy

O J :; J :Tf dxdy

8. Using cylindri
cal coordi
of the solig boundeg oy ‘males. write the volume

(2 Pninls)
=T e

LE

CamScanner = g d>guaall
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W/ 12

O 8

6. Find the directional derivative of *
(2 Points)

fivyi=v+xe™ atthe
point AL in the direction

from A 1o Bi0.5)

?' L
(3 Poinls)

J°, I? fdvdx +
Jo I Sy =
- o L!,,,’:i}

CamScanner = g d>guaall
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O %

7.°
(3 Points)

J'{i ) I'Et Sevdx +
_r:, I ':q. Sdydx =

@) L:, _l': SJdxdy
O 1) {'} _f: Sdxdy
O [ I7, rdxdy
O [} S, fdxdy
O J 3 _]'i Sdxely

6 pr-
O Jo J: ‘_, Jdxdy

8. Using cylindri
cal coord ;
of the solid bounded by j”ates. write the volume

(2 Pninls}

| ]
Ty etaan

-’I-l'hl {I‘PII]:..‘:#]“

1

_— —
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J 12

O 8

6. Find the directional derivative of *
(2 Points)

fivyi=v"+ e atthe
point AL in the direction
from A o 0.5

?‘ L
(3 Points)
J°, I? fdvdx +
Jo I Sy =
')

CamScanner = g d>guaall
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L I I R e e T TR TR

O I, [P 46)dvdr

b, ¥
(2 Points)

Along the path
y=1"+1 find
fl.m e e 11 |

-
teppeill )  qom gppeyasl

O -4

6. Find the directional derivative of *
(2 Points)

Fiey) =x e ue™ gt the
Pt ALY dnthe direction
from A to B(0,5)

03

Feeltyi (|
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;o
(2 Points)

I: .|' :m Jue ) duly=

O .r1'_:_ :;“" " fircos 0.r sin 0))rdrdo
o -r"_‘ o """ fircos 0, sin 0))rdedd
O J‘,l.-r :‘m “ftrcm f.r sin 0) yrdrdt)
O Jiq .ru! " fie cos 0.r sin 0)) rdrd0

ﬁ I3 ,I," M £ cos 0. sin 0)) rdrd)
4

O j";_-. J'.:, o "fircm fl.r sin @) yrdrd?
1

2. Find symmetric equations of the normal line lo
the surface: *
(2 Points)

s=xll + %) atthe
point (2,0,4)

o N, -
O&F=5=%5

O=f=2t
O 5t=}=xt

CamScanner = g d>guaall
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]

4. Using double integrals, write the volume of the

solid bounded by: *
(2 Points)

=rtavado=ad,

v=r and y=2-y

® 1, I3 e+ 100dydy
O ' [0+ 12)dvdy
O [, P4y 4 2)dvds
4 _rt; IEE'[.I:+}J+HIJ}':IL
O [, [ty sd)dvde
O [ofind4eheydyis

O
(2 Points)

Along the path
v=r«| find
lI!-lll

limt
e ATl - :

O -4

e

CamScanner = g d>guaall



2. Find symmetlric equations of the normal line t
the surface: *

(2 Points)

z=x(l + %) at the
point (2,0,4)

-
(=1
[

x+2

I
I

t
L=
|

O O O O O e@.
IIA
\HIII#

< i
(2 Points)

I [2442¢-x2
T 37" =ldydx =

O — 27 () e fE
2 o=

|1 O >

CamScanner = Wgo d> gusaall
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12. Let E be the solid enclosed by *
(3 Points)

=l=-aevo=l=1,
v=2—1 and the vz-plane.

Then f ==
O 4
O3
O 1
O 6
Q5
Q2

13. ¢
(2 Points)

[o Ja 2 ddudy =

I“—l

O =5

@ S5
20

CamScanner = g d>guaall
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QO 2y+2z=0

10. *
(2 Points)

—a
a=(LL1Lb=(-10,1)

- POWERGUNIT

1.
(2 Points)

|:-i.‘|..rﬁ.|:-zi'|.m
and |4 |= 3. The angle

between @ and b is

QO 1215

B I W

CamScanner = Ligd d>gwadll
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8. Using cylindrical coordinates, write the volume
of the solid bounded by *
(2 Paints)

:_' ‘lll:+r‘:‘:=*l

and (x+41 7+ =16

OJ

1) ,]“ e [", rd=drdo

l.rt-l ["

i
O 3 ;" [, rddndo

O flT L;: T rdzdrdo

LT

O -rl_: Il-l g j",l rdzdrd0
ir
O I l: J 114 pt J", rd=drdo

LE
O .r_'_r:_ L;h o [", rd:drd0

9. Find the equation of the plane passing through
the points *
(3 Points)

ADD0)R00.1.2) and parallel

| =N - | i
Al b 5
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O 2y+2z=0

10. *
(2 Points)

a=(LLI.b={-1.0.1)
2.3

—_ =

d k-2

O 3
® -

(1)

O -1
O

o P OWEROUNIT.

1.
(2 Points)

|E'-?:|= .rﬁ.|a'-:3|-ﬁ?
and [|= /3. The angle

between o and E is

O 1215

S

CamScanner = g d>guaall
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8. Using cylindrical coordinates, write the volume
of the solid bounded by *
(2 Points)

:='|l:'tr'+:=-l

and ixedi i e =16

1x

O J'f .ff.“ con Itl rdzdrd
i

Q [ [ [, rduindo
_'|_1'

@ J’f .fl;: ot I\ rdzdrd6
11

O [3 L5 7 rddrdo
i1

O .r_‘_'_'-: Il-t‘ — K| rdzdrd )

LE ]
Qs s J ol rdzdrdo

9. Find the equation of the plane passing through
the points *
(3 Points)

A(D0.0).B(0,1,2) and parallel

" [ 1
i i m | i
w ! O ek i
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